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3/18/2021
A carrier signal C(t) =25 sin(2.512 x 10'%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 % 10%t) and transmitted through an antenna. What will be the bandwidth
of the modulated signal ?
Options :
86435113501, 20 MHz

86435113502, 8 GHz

86435113503, >V1 GHz

86435113504, 1987.5 MHz

Question Number : 1 Question Id : 8643514501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ 2aifdl engens C(t)=25 sin(2.512 x1010), sseudd engens m(t)=>5 sin (1.57 x 108t)
-lerned eifs werCGupp Geauwliul (B zerfl apob CeassluBEnsa.
parGunpd Gaiwtul L asms@er Ll anL SFLD eTemlg

Options :

86435113501, 20 MHz

86435113502, 8 GHz

86435113503, 201 GHz

86435113504, 1987.5 MHz

Question Number : 2 Question Id : 8643514502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two cells of emf 2E and E with internal resistance r; and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
|| ||
k L
WaTAV TN
R
Options :
i Iy
2
86435113505, =
&
? |I'2
86435113506, -
) T
86435113507. @ 2
86435113508.

Question Number : 2 Question Id : 8643514502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1y

il
86435113505, =

%I |I'2
86435113506, -

) T
86435113507. @ 2

T.+T
86435113508, = -

Question Number : 3 Question Id : 8643514503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A sound wave of frequency 245 Hz travels with the speed of 300 ms I along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will

be the mathematical expression of this travelling wave ?

Options :
Y(x, )=0.03 [ sin 5.1x— (0.2 x 109t ]

864351135009.
86435113510.

B : .
86435113511, Y @& 9=0.06 [ sin 5.1x— (1.5x10°)t |

RO C ) .
86435113512, Y& §=0.06 | sin 0.8x—(0.5x10%t ]

Question Number : 3 Question Id : 8643514503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
245Hz =dlitleuan Caream e(m @6l e 300ms ! Ceussdlar Cri@l x-o&8en
densliler vwenfllsdng. smaida o drer geubleurm yerteflud pemayb Yemem b
Clwngswons 6 cm Ba&TdH D&, Lwenfl&E@En Dmadssrear santlgsailud Foearun
Options :

Y(x, )=0.03 [ sin 5.1x— (0.2 % 10%)t ]
86435113509
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Y(x, )=0.03 [ sin 5.1x— (1.5 x 103t ]

86435113510,
M S i X

86435113511, Y& §=0.06 [ sin 5.1x— (1.5x10°)t |
S EE T R :

86435113512, Y& §=0.06 | sin 0.8x— (05107t ]

Question Number : 4 Question Id : 8643514504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A geostationary satellite is orbiting around an arbitary planet ‘I at a height of 11R above
the surface of ‘I, R being the radius of ‘P’. The time period of another satellite in hours at a
height of 2R from the surface of ‘T is . ‘I has the time period of 24 hours.
Options :
86435113513, °

86435113514, 62

86435113515. 3

6

86435113516. V2

Question Number : 4 Question Id : 8643514504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& (h g@ﬁ]{lﬁ]amw genewsGCamar yelllenr Cupurlbellmbs 11IR 2 wrsdlea
Hellenwé ol eumélps. @r@ R erarug yellller @rb @b, yeilulen
Cupuridelmbg 2R 2 wrsde yelenwé sHfl e wHGDME HenenrsGsraflen
emaa Corn wenfl b

Options :

86435113513. S

86435113514, 62

86435113515. 3
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6
72

86435113516.

Question Number : 5 Question Id : 8643514505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of
mass m moving with a speed v along the line joining A and B collides with A. The maximum

compres.sion in the sp ring is

& A
m | Y Y ] m

=

m

i

Options :

m
2K

m
2K

86435113517.

i)
86435113518.

\/mv
86435113519, ' K

86435113520.

Question Number : 5 Question Id : 8643514505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@@ cupeupliumer HenLgser seanruiled o arer geubleumammid m BHlenpwenLw @)
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Options :
| m
[
86435113517. V2K
m
U, |—
2K
86435113518.
lmu

86435113519. MI K

86435113520.

Question Number : 6 Question Id : 8643514506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two particles A and B of equal masses are suspended from two massless springs of spring
constants K | and I'lf2 respectively. If the maximum wvelocities during oscillations are equal,

the ratio of the amplitude of A and B is

Options :
%
*\?_
86435113521,
||'ﬁ
I
86435113522, V2
%,

K
86435113523, 1

| (K

VK
86435113524.

Question Number : 6 Question Id : 8643514506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7/93



3/18/2021
@55 Hleannsmend Canam_ @(m gisearasar A wHmb B smer wrhladlser wpennGu K,
whmib K, Garear_ @ Blevmwbm smaflenme Ggmmis efll Ll (Hareng). ienaeymib
Curgy Qumw SasCasmser FoLMs 2 drarg oralldd A LOHNWL B FHsdraefen
eigssatlen eldlsh

Options :

Ky
Ko
86435113521,
K4
86435113522. K2
%

86435113523, !

K,

ra

K
86435113524,

Question Number : 7 Question Id : 8643514507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11

(d)

List - I List - 11
.T|'
Phase difference between current and voltage (i) o current leads voltage

ina purel}f resistive AC circuil

Phase difference between current and voltage in (i) zero

a pure inductive AC circuit

m
Phase difference between current and voltage in (i) = ; current lags voltage

2

a pure capacitive AC circuit

1{ X — X
Phase difference between current and voltage in  (iv) fan (%}

an LCR series circuit

Choose the most appropriate answer from the options given below :

Options :

86435113525.

(@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

26435113526, (@(1D), (D)-(iv), (c)-(ii), (d)-(1)

86435113527.

(2)-(i1), (b)-(iii), (c)-(1), (d)-(v)

26435113528, (@) (1), (b)-(iii), (c)-(iv), (d)-(i)

Question Number : 7 Question Id : 8643514507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
86435113525, @D (b)-{itd), (c)-(iv), (d)(ii)

86435113526, (@ ({0, (D)(iv), (O)(iii), (d)-(1)

86435113527, @ (i), (b)-(iii), (c)-(G), (d)-(v)

26435113528, (@)-(11), (b)-(iii), (c)-(iv), (d)-(i)

Question Number : 8 Question Id : 8643514508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

What happens to the inductive reactance and the current in a purely inductive circuit if the
frequency is halved ?

Options :

86435113529, nductive reactance will be doubled and current will be halved.

86435113530 Inductive reactance will be halved and current will be doubled.

86435113531 Both, inductive reactance and current will be halved.

86435113532, Both, inducting reactance and current will be doubled.

Question Number : 8 Question Id : 8643514508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
G & Wlen Hleneooé smiblerm &l jlleuan undlwns Gennasiuhin Cungl i&abblem
Wlemr Flenen WlanGlendliliy whmib WerGerm L sdlar wdllser

Options :
86435113529.
Wlar Flenaoin WlenGlerdliiy @ wLmsnEh wHnb WearGearm b urdumE.

86435113530.
WBlerr Hleneon Wlenblerdlly urglwm@n whmibh WerGerml L b @)@ WL m&nELb.

86435113531.
Wlenr Hlenavn Wenblerdliliiy whmib wWlerGerm_ b @rawm(hin undwum@Lb.

86435113532.
Wleir Hlenew WlemGlamdl L whmib WerGerm L @reawmBib @) WLm&mnELD.

Question Number : 9 Question Id : 8643514509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A sphere of mass 2 kg and radius (.5 m is rolling with an initial speed of 1 ms 1 goes up an
inclined plane which makes an angle of 30" with the horizontal plane, without slipping.
How long will the sphere take to return to the starting point A ?

A 30

Options :

86435113533, 60

86435113534, U278

86435113535, 022 S

86435113536, 00 S

Question Number : 9 Question Id : 8643514509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 kg Blenpwyid 0.5 m ypapid Qanam e GCameard Sl ssearsgen 30° gmieins
o aTem @ FMU SarsEle eu(ps@Gsalendl Csm &5 Geusd 1m s~ o1 e Ge Crréd

o (hEendlng. Camard Cgrisasl ydallseE A S@mbyaughanear smab

e 30

Options :

86435113533, 00

86435113534, U278

86435113535, 022 S
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86435113536, 00 S

Question Number : 10 Question Id : 8643514510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

81
alwa}-'s I‘iSﬁlg to ﬁ of the height ﬂlrnugh which it falls. Find the average speed of the ball.

(Take g=10 ms~2)

Options :

1
86435113537, 20 ms

1
86435113538, 2-20 ms

1
86435113539, -0 ms

1
86435113540, 200 mS

Question Number : 10 Question Id : 8643514510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fen s nEH 5 m 2 wrsdadlpis @@ @riur ubs efllhelsdsLudng. LB

A e SR S R i e s e e
Hmou Hmbu darCpdpg Cueud aluCGurgh el @ L8 almbs 100

2 LnsSnE e widlng erefler updler syrafl Geusnd : (g=10 ms™?2

erenid (ol& mems )
Options :

1
86435113537, 20 ms

1
86435113538, 2-20 ms

1
86435113539, >-0 ms

1
86435113540, 200 mMS
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Question Number : 11 Question Id : 8643514511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The velocity of a particle is v=v + gt F2. Its position is x=0 at t=0; then its displacement
after time (t=1) is :

Options :

Iﬂﬂ.l%ll—"
86435113541, 2
2 H
86435113542, Yo 128+ 3F
F
I?{}lﬁl—
2 3
86435113543,
86435113544, (0T8T F

Question Number : 11 Question Id : 8643514511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ Fsatlan SlensCousbd v=0,+ gt Ft2, t=0 eragyd Cung gsaflen iﬁ;]@mw x=0 erediléd
t=1 ereqd Gurgy siseflen @ LGELWITES

Options :

I?{}I%IF
86435113541 2
y 3
86435113542, Vo128 13F
F
I?{}IEI—
2 3
86435113543.
86435113544, 018 TE

Question Number : 12 Question Id : 8643514512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A ha_irpf_n like ShElPE as shown in figure is made h}f bem:ling a long current ca.rryi.ng wire.

What is the magnitude of a magnetic field at point P which lies on the centre of the

semicircle 7
o
i T
P 9]

I
I

“‘1_3'{2 )

86435113545, 27T

— A

Options :

“‘_'Dl{z b )
86435113546, 27T

“4_?'1{2 b )
86435113547, *TT

5

20 (2 — )

86435113548, 17T

Question Number : 12 Question Id : 8643514512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WerGenm_L b grmdls Hevaynd g e sbl em CsmamenL zardl augella

o

aumarssLuBhng. Sy awlLsdar ewvbwsHe oarer @l yerefl P-é

&Mihs e SElem eremm iy

I
> e
| 91
I
Options :
I
B2 -m)
86435113545, 27
i > 4
2-—.’1'{ )

86435113546.
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I

H—}{E F )
86435113547, *7T
pol

e (2—m)
86435113548, =TT

Question Number : 13 Question Id : 8643514513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of
hydrogen atomic spectra is lying in the visible region ?

Options :

86435113549, | aschen series

86435113550, balmer series

86435113551, Lyman series

86435113552. Brackett series

Question Number : 13 Question Id : 8643514513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

emanl_rmer Aanssmm uaGeaum euflanssmensd Gamawr e eufl Blpwreneeni
nd sl M ena : ' 4 cnen il e i £ o A
2 18l pdlng). enanl rmean an&s Blowraaullear ebs auflas samap(m UGS
e WL ?
Options :
AL, U T &m 8
26435113549, LTEGEN @Uljlangde

86435113550, U @ euflengsen

86435113551. Giel LDGET @l IJ]E-E}H-Ha a1t

86435113552 Sgratlal’ suflenssar
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Question Number : 14 Question Id : 8643514514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical photocathodes receive the light of frequencies f; and f, respectively. If the

velocities of the photo-electrons coming out are vy and v, respectively, then

Options :

3=

Zh
| — Ty = F{"h f2)
86435113553.

2 2 2h
v —0s =—1f1 —fl
86435113554, m

1
2

2h
n +0y =|—(f +f2)
86435113555. m

7 7 2h
vy +v3 = —f1 +f2]
86435113556. L

Question Number : 14 Question Id : 8643514514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(h b5 qafl erdlj Wenmeumlser (penmGWw f; LHMIb fr HTtleuenr GlsnarrL eparflanw

-

gndlng. Hevefleumbd qafl eravs_grensaflen HasCousmiser pannCGu v; wWHMID v,

L
eTeatlen
Options :
i
2h 2
T — Uy = E{'h f)
86435113553.
2 2 2h
v — 1) =FU1 f2]
86435113554,
1
2h 2
™ + Ty = ?{fl Ffa)
86435113555. ;
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86435113556.

Question Number : 15 Question Id : 8643514515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following will be the output of the given circuit ?

[0
L
—D-

A

B
Options :

86435113557, AND Gate

86435113558, NVAND Gate

86435113559, “OR Gate

86435113560, YOR Gate

Question Number : 15 Question Id : 8643514515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ECp Garhssiu’Leameusaflad ahg qearm Ger@ésiul L sndlear Ceuaflul

G0 ?

£ >
4
=

B

Options :
86435113557. AND eumutle

86435113558, NAND cumSlen
86435113559, XOR eumile
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86435113560, NOR eumiien

Question Number : 16 Question Id : 8643514516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The four arms of a Wheatstone bridge have resistances as shown in the figure. A galvanometer

of 15 {1 resistance is connected across BD. Calculate the current through the galvanometer

when a potential difference of 10 V is maintained across AC.

Options :

/.
86435113561,

3
86435113562.
86435113563,

86435113564, +87 MA

Question Number : 16 Question Id : 8643514516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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BIenE Ussmseatigib WersamL sar Garam g el evGLmear Foendsnn UL GHld
srlLLul (Derarg. 15 O WBlengen 2 enLw @R &maveuenmOLLf (penenger BD-&@
@ Cu @amenssiubhdng. paasar AC-&@ @l CGuw 10 V WHerar(pss
Caupur® Blaw Bnssuubbn Curgy sroeaardliry aw@Cu Gaoaib

Wl eim(SesmmLi_L_LD :

Options :

86435113561, =14 BA

86435113562, 244 mA

86435113563, +57 WA

86435113564, +87 mA

Question Number : 17 Question Id : 8643514517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=0.693 )

Options :

: 1
86435113565, 116X 10° kg s

: 2 1
86435113566, 009 * 107 kg s

3 1
86435113567, >/ 107" kg's
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2 1
86435113568, 0 <107 kg s

Question Number : 17 Question Id : 8643514517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 kg Blenpienw e sLLD @F sHhaflaflar @aanssiul () igar (sT_&s ciss
12cm @) &G aaen Gelwiubdng. @ramh Hbl_fseEns@o Yo s
6 cm &6 FHaondng erefler @ssmaw @uasmsatien senLwym wrdledl : (In2=0.693
erantd Cl&mers)

Options :
86435113565, 1107 10° kg 57

: 2 1
86435113566, 09 ¥ 107 kg s

r 3 1
86435113567, >/ 107" kg's

2 1
86435113568, -2 <107 kg s

Question Number : 18 Question Id : 8643514518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If one mole of the polyatomic gas is having two vibrational modes and § is the ratio of molar

C
specific heats for polyatomic gas ([:‘: = C—PW then the value of {3 is :
\ V)
Options :
1.25
86435113569.

86435113570. L

86435113571. 1.35

86435113572, 1-02

Question Number : 18 Question Id : 8643514518 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ GCumed udiam aumy @ b jeymn ummiens Camam(harars. GLaIbd B ererLg

ved ogn eumyelen Guren] ser Ceuliunkisailen aildlsn [[5=

&Ly
Options :

86435113569. 1.5

86435113570.

86435113571, 1.35

86435113572, 1.02

Question Number : 19 Question Id : 8643514519 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thermnd}-'na_mic processes ?

isothermal
/$

+ s
T «— adiabatic T
P p
isothermal
(a) (b) _
adiabatic
'\'.' H’ T _;
F A .
T le——isothermal T isothermal
v p ey

adiabatic
(©) ad (d) e

K

adiabatic

W

Options :

a) only
86435113573. { ] y

W

T—>

W eTasfled PB-eo
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86435113574, (P) and (c)

86435113575, (© and (a)

86435113576, \©) and (d)

Question Number : 19 Question Id : 8643514519 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@m Ceaumul L Geuliu
D o a

&3 (
Gaieyflenwm@E o ?
P

(a) vd

V—>

(©) N

T—

Options :

s
86435113573, (@) LD

86435113574.
© wHpid (a)

86435113575.

86435113576.

L
T «— QautiuwrHbdLHm

Finllaitiublena

F.
T «—— FinGlaliumkleney
vV

Geudinnmhide Hm

(d)

-

P

sweuiublana
/<

QeuliuwrhbdLHm

L
A Eﬁ@{a}

Fal

T—>

§e

N
/ Qeutiuwnhdbm

L
Ead

T 3

w&s Blepe|seEnsE SDEsaml b cenm &flumen
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Question Number : 20 Question Id : 8643514520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An object is located at 2 km beneath the surface of the water. If the fractional compression

~ is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

| Given : density of water is 1000 kgm 3 and g=98 ms 3_]
Options :
. 7 %
86435113577, 1-96% 107 Nm

86435113578, 144 %107 Nm ™2

: 9 2
86435113579, 2-26>107 Nm

86435113580, 144107 Nm ™2

Question Number : 20 Question Id : 8643514520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g Qummer BruglnE iguie 2km ywsida 2 drerg. WBlsaEfPlu oipssh

Ea =1.36% erafler Frpss sanse| ssbHanar brwss Sy @eundlbélen GCuwiwimer
el &l s L0 . (Bflem =Ljsd 1000 kgm~> wHmid g=9.8 ms~2 ereis )

Options :
g "
86435113577, 1.96x107 Nm

86435113578, 144x107 Nm ™2

: 9 2
86435113579, 2-26>(107 Nm

86435113580, 144107 Nm ™2

Physics Section B
Section Id : 864351302
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Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351302
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643514521 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 2 wF capacitor C, is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 pF. The

charge in C > on equilibrium conditionis __ pC. (Round off to the Nearest Integer)
S
S1 oS2
2 uF 8 wF
10v] Tc, Te,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643514521 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2 pF WlanGaadl C; apgeiler 10V Wlemempss GCoumum_ign@ e Warsead epaons
Wemenr L Liuh&ma. Wensebd asiul (b, WearGssdl C; e Weneayr L wnm 8 wF

BlanCasdl Cy-z e @amemssiuBdng. swublaaula WarGsad C, Wgman

Ll GoTEmTL L LD pC @w. (Csmrmuwnns)
S.
e 22
2 pF 8 uF
10V Cy C,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514522 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of
friction between the wood and the floor is 0.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is N. (Round off

to the Nearest Integer)
[Take g =10 ms 2|

W
M

W
M,

o
A,

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643514522 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

=

4 kg Hlenmwjarer e SAmieuer 5kg Hlanmuyerer @it em Sblw o armga Blemm

.

)

Gl & menTig (HéH DTei . H6m JHSensHHn@H0 WwSHHeTy HEHb @en
F

05 @, wrsse () oiFen S5 g6l (Hba BETTLOD @)

gaflés Couanngw Clu@mo eflens N. (Gsmymuwns) (g=10 ms™2 erens )

W
g

~

i
=

—
3

LY
>

"
*

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643514523 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

LGSuwwimer 2 gmiey (&enrsLd

(F& & Fmeus @p SwGne
més Ameuer @ sbYDHE
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The image of an Dhject placed in air formed I:n, a convex ref ractf_ng surface is at a distance of

rd
10 m behind the surface. The image is real and is at 3 of the distance of the object from

the surface. The wavelengﬂl of Eight inside the surface is — times the wavelength in air. The

3

; . X ;
radius of the curved surface is — m . The value of ‘1" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643514523 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ Gellhs ULy sH@E Werearmew 10 m Ggreneweiler ensussiiLl(HeTer

GClummefler Gow Wbusamsd Cummafler e (meu yeraile 3 ojarey YbusenHwLd

Carpmeilsdng. @ellps urlleaydr qeafllilen oemeberd eremug CleupmlL s

2 x
o gmemengL) (SLImemm 5 LRSS L. GUENETLITLILAGIT <24, 7LD = @ ki@ x-em W&l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514524 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The electric field intensity prnduced b"i, the radiation coming, from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced b}-‘ the radiation coming from 60 W at the

same distance is

x
Mg E. Where the value of x=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514524 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

100 W lemm@enip eflené &lell(mbg eu(mb sdliser 3 m Ggmenaeiled 2 (heund@b WlemLes

Gadleay E. GCuogib 60 W Wlar @enyp eflersadlcllmbg amb sflisar Gs Ggmaneaaile

& or ~ ¥ F LrEl] + |'-‘I £ i]: fort - -‘l
.J_.kaG:.JIH_-h@{-}LIJ eiTLlcL& \:JH'J_C' @].I 5 ; %“:Lhi_ﬂ_'} X - &l LD{d') LIl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514525 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Seawater at a frequency _,|"=9><1ﬂ2 Hz, has permittivity E=8{]Eﬂ and resistivity

p=0.25 {lm. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10F times the displacement current density after time t = 300 The value of x is

(Given : = 9% 107 Nm?*C™2)

—l-’ITEﬂ

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514525 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

sLa B f=9x107 Hz =fljteuamentles Gummarer Geuafled(hidlmer e==80e, wmmiid
BlemgenL eremr p=0.250m. g @eanenissl (h WenGasdlenw sLc Bile ephss Clalig
250E wrndams Wlaranpss epead V() =V, sin(2nft) seflsstinubheugns sbueamer

1
Qens. t= 300 9@ @ Lutuwissl WerGerm L o fédlenw el WemsL Gdlullen

WenrGemm L L féd x -wLmsrdlpng erafld x-er wdlly

1
dqr £p

(
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

=9 x10° Nm?C™? aremé Qanpésiiul_ (Herars)

Text Areas : PlainText
Possible Answers :

100
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Question Number : 26 Question Id : 8643514526 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o e S SO - T S
The electric field in a region is given by E = EE{} = EE{” with Eq = 4.0 x 1[]3%. The

flux of this field through a rectangular surface area 0.4 m? parallel to the Y~ Z plane is
o Nm2C 1,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514526 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e TG, . BN I - —— —
@ L@Gdllar o arer wlemyed E = EE{}: I EE.{].; @inE, Ej = 4.0 x 1[]3%. GLeyLd

-
|

Y ~Z sansdln@E @evemtiuns o drer 04 m? Gasueus augen urlller auflGu Gaaeaub

Wlemyer umuw Nm=>C~ 1,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514527 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The disc of mass M with uniform surface mass density « is shown in the figure. The centre of

mass of the quarter disc (the shaded area) is at the position where

Sgpe

el
w3 7

9|

W)=

xis . (Round off to the Nearest Integer)

[a is an area as shown in the figure |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514527 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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M eranrp Blenmwid o erem Fymenr uyly Blenm LSSy CemarL @ 50 UL Sl

gt o R o Sl G e : S e s [ X B xaw
sT_LUul (herargy). srougd sl (CamglL ugluy) Hlenm Wb (= —, = —
3 7w 3 w)

ereitled x-eb elldlgmaamy wl iy . (Camymuons) (a uLgdled smi L (Deter

L)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643514528 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A hod}-' of mass 1 kg rests on a horizontal floor with which it has a coelficient of stalic

friction % It is desired to make the body move by applying the minimum possible force
F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms~?]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 28 Question Id : 8643514528 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

flen_ggar senyuilenr e Blanaullay o crer 1kg Blenm Glaranr 6w QUMmET &ardg) L an
a s a = ) i . a 1 - g ) . .
FghuBsabd Hleraullud o rmie] @emrsh B LQunmenar @uiki@ory Qe

gefldsliu@n dAnw srsdwussmm eflens F N. eflens F -an wdlliy
(Campmuwns) (g=10 ms~2 erens)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514529 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r) = Ugrt. If

a1
Bohr’s quantization conditions are applied, radii of possible orbitals r, vary with n« , where
o 18
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643514529 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

m hlenm G&TaETL @(h HSET MW (1P5HS LD U{r]—Lﬂr‘4 LGS e eulL L
urenguder @uriEgdng. Gunflear sereunsds Blubsmania Frssus sam &HmL

1 ' . :
Lnengsaflenn ,TRIGET 1, ne 2 Len wMubhdng erefled a erarug

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643514530 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Suppose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 cm?® of oleic acid per cm® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

W=

3 %
radius (EW %107 cm. Then the thickness of oleic acid layer will be x x10~ 14 m,

lI,Il

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514530 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

L&, 0.01 cm® gelld olewb/cm® sengblummer o drereurm e Hiss @els
sblawsdear samrFe Carhasiiu (Heararg. @s&sarsamad Caram(, 4 cm? Lrly
i
3

3 — . a )
Clamar, Gweru e (EW x107 cm 2, rbh GCamawr 100 Csmer ellg @l
oy,

dlrauggeflaamersd Claran(n o meurdsLu@dng. @dlsd @ble (HEdHer FigLoen
xx107 M m. @riE x -ar wdliy . (Gemymuwbns)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351303
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351303
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643514531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435113591. el

NO,
86435113592. =

O3
86435113593. -

0
86435113594, =

Question Number : 31 Question Id : 8643514531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SpssantL rpedammseila, CrTEsTI [ eulgeupdTer apadaa

Options :
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86435113591. Ll

86435113592.

DE
86435113593,

I

e
86435113594. =

Question Number : 32 Question Id : 8643514532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?
(A) Freezing of water to ice at 0°C

(B) Freezing of water to ice at —10°C

C) Nyg) + 3Hy(g) — 2NHs(g)

(D) Adsorption of CO(g) on lead surface.

o

(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :
86435113595, 1) (B), (C) and (D) only

86435113596, (4) (C) and (E) only

86435113597, (A) and (E) only

86435113508, (0) and (C) only

Question Number : 32 Question Id : 8643514532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Spasan eThg GFwdwpennuiled eramr’ Crma Gendmg ?
(A) B 0°C -é ueaflds_puirs 2 emeug.
(B) B —10°C -é vefl&sgwurs 2 amndng.
(©) Ny(g) + 3H,(g) — 2NH,(g)
(D) CO(g) srifwl urler Bs seuieug).
(E) Hfléd NaCl -&enyeug.
& pdsenrecubbled mhg Ffwrer afaLamwsd CsihbbsH.
Options :
s435113505, 7 (P (©) on@ie (D) B8

86435113506, L (©) 1ooOI0 () g

S
86435113597. () toDRo (E) 1ot (o

86435113508, ©) 10D (€) 1oL-Gd

Question Number : 33 Question Id : 8643514533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
power is :
Options :
24
86435113599, D2

b
86435113600, V2

PO;
86435113601,

SO3
86435113602.

Question Number : 33 Question Id : 8643514533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
erdlriblen #reflenanr Fapwelipliigsedldy, SDESHTL THS anm i HlELLIg wiTer
Falp eSpuigeyd Hmevars CubmiaTerg) ?
Options :
24
86435113599, B2

b
86435113600, N8

POj
86435113601.

SO%
86435113602.

Question Number : 34 Question Id : 8643514534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set of elements that differ in mutual relationship from those of the other sets is :

Options :
86435113603, be - Al

86435113604, B =51

86435113605, -1~ Na

86435113606, =~ M8

Question Number : 34 Question Id : 8643514534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SpsearL aThs Cmry seaflnhisdr wHn Cmrysafld @) mEbSH @armLer ganm
Cgriryerer wenrdedlmbg GCeumubhidng ?

Options :

86435113603, be - Al
86435113604, B~ St
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86435113605, -1~ Na

86435113606, =~ Mg

Question Number : 35 Question Id : 8643514535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Haematite () AlLO;yxH,O
(b) Bauxite (i) Fe,O4
(c) Magnetite (iii) CuCO5Cu(OH),
(d) Malachite (iv) FeyO,

Choose the correct answer from the options given below :
Options :
86435113607 (@)-(i), (b)-(iit), (c)-(ii), (d)-(iv)

86435113608. (@)-(i), (b)-(i), (c)~(iv), (d)-(iii)

86435113609, (@), (b)-(1), (c)-(i1), (d)-(iii)

26435113610, (@) (1), (b)-(iii), (c)~(i), (d)-(iv)

Question Number : 35 Question Id : 8643514535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sulflems - 1 auLain euflems - 11 GlLMmE55.

sufflens - 1 suflems - 11
(a) GamwenL L () ALO;xH,0O
(b) Urdaevl (ii) Fe,O,
() Cuéaren (iii) CuCO,Cu(OH),
(d) wrewensL (iv) Fe,O,

£C Gar@assuu_(Harereunmlalmhg sflwnereunenng CaibelsH.
Options :
86435113607, (@)-(1), (b)-(iii), (c)-(ii), (d)-(iv)
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86435113608, (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)
86435113609, @)-(1¥), (b)-(1), (c)-(ii), (d)-(iii)

86435113610. {a}-{ii], {b]-{iii}, {C]-{i]r {d]-{i‘-’]

Question Number : 36 Question Id : 8643514536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functional groups that are responsible for the ion-exchange property of cation and anion
exchange resins, respectively, are :

Options :

S0O,H and — NH,

86435113611,
86435113612, VH, and —COOH
NH, and —SO;H
86435113613 :
86435113614, O3t and —COOH

Question Number : 36 Question Id : 8643514536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sjwailtuflornm Gfarsailar, Crirbler wnmb erdlibdler walluforbnims
Blapssb ablanastlsr@dlsar wpanmGu

Options :

SO;H wmmib —NH,

86435113611,
86435113612,  VH2 LD — COOH
86435113613, NI LoOOID —SO,H
86435113614, — >C3H wpmib —COOH
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Question Number : 37 Question Id : 8643514537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One of the by-products formed during the recovery of NH, from Solvay process is :
Options :

NH,CI
86435113615,

Ca(OH),
86435113616. 2

CaCl,
86435113617. =

86435113618, NAHCO;

Question Number : 37 Question Id : 8643514537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
graoGel panmpuiler 2 meur@d NH; -eneu GA&@0bCUTE 2 (heur@h e oL e
-eflenerlummer

Options :

NH,CI
86435113615

Ca(OH),
86435113616. :

CaCl,
86435113617. =

s
86435113618, NAHCO;

Question Number : 38 Question Id : 8643514538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set that represents the pair of neutral oxides of nitrogen is :
Options :
sea3s113619, O 2nd N

N,O and NO,
86435113620. - =
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NO and NO,
86435113621. =

N,O and N,O,
86435113622. = -

Question Number : 38 Question Id : 8643514538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

anpL_rmaflan Bhblana o damev(Haaflen GCarig.
Options :

NO wnmiw N,O

86435113619. -

N.,O wmhmin NO
86435113620, 2~ = 2

86435113621, VO DML NO,

N,O wmmin N,O
86435113622, 2~ = 273

Question Number : 39 Question Id : 8643514539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The common positive oxidation states for an element with atomic number 24, are :

Options :
86435113623, T 110 16

86435113624, t2to +6

86435113625, 1 and +3to +6

86435113626, © 1 and +3

Question Number : 39 Question Id : 8643514539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oigm erawmt 24 Ceraw saflwsdlen Clurgeurar Coird@ml Clereanr <y, &elmGarmm
GT GUOT HEIT
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Options :

F1 -adl(mbBa +6
86435113623. Wess

| 2 _61? I-F‘. | E'
86435113624. (hba

F1 OMID +3 Wpge +6 cueny
86435113625, .
86435113626, T 1 LLDMILD +3

Question Number : 40 Question Id : 8643514540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) [Co(NHj)g] [Cr(CN)g] (i  Linkage isomerism
(b)  [Co(NH,), (NO,),] (i) Solvate isomerism
(c) [Cr(H5O)(]ICl,4 (iii) Co-ordination isomerism
(d) cis-[CrCl,(0x),] (iv) Optical isomerism

Choose the correct answer from the options given below :
Options :
86435113627. (a)-(1), (b)-(i1), (c)-(iii), (d)-(iv)

26435113628, @)F(11), (B)-(1), (c)-(iii), (d)-(iv)
86435113629, (@)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

26435113630, @ @v). (b}-(id), (c)-(ii), (d)-(3)

Question Number : 40 Question Id : 8643514540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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suffleme - 1 -anw euflems - 11 -eyL e GlUTHSHS.

eufflens - 1 euflems - 11
(a) [Co(NH.)g] [Cr(CN)] () @avawriiy wrmHHuib
(b) [Co(NH,); (NO,),] (i) @seoruurGenmm wrHHlWLD
() [Cx(H0O).CL, (iii) <jenemTey LD T MiwiD
(d) cis-[CrCl,y(ox),]° (iv) eafl &wp0H& wrHdlub

& & seireupled (mbg Fflwner eflenLeanwud Csihbels[.
Options :

86435113627, (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
26435113628, (@) (1), (b)-(1), (c)-(ii1), (d)}-(iv)
86435113629. (@)-(iii), (b)~(1), (c)-(ii), (d)-(iv)

s6435113630, @ @v), (D), (c)-(ii), (d)-(3)

Question Number : 41 Question Id : 8643514541 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth
Choose the most appropriate answer from the options given below :
Options :
86435113631, () only
86435113632, (B) and (D) only
(C) only

86435113633.

86435113634, (D) only

Question Number : 41 Question Id : 8643514541 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

“wyl CrmYGagen” (sar | F558)) WOl@GS STantons |epWb 6Thd ahm SHeUmTesTg ?
(A) eflsluguwrear o rriser LweaTU(H&ESHeg!.

(B) adlsliugwirer soaeu Garlugser LiwenU(hds eusg).

(C) Birfleasafld oLiddurear Sreurmiser aaTiaug).

(D) Bifleveselley oam’ | 5558 @HemUTL LT STeuTBRIGET cuemies) sHdsliu(Heug).
Epssameuniledlmbg el Glurmssone aflalamud Csihbs0H.

Options :
86435113631, (A) LB
86435113632, (B) DO (D) L (i

86435113633, (C) LD

D) wL_(hib
86435113634.{ ) J

Question Number : 42 Question Id : 8643514542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Nitrogen can be estimated by Kjeldahl’s method for which of the following compound ?
Options :

86435113635.

N
.

86435113636. CHy—NHp

-

Q
86435113637. N
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86435113638,  N=N CIT

Question Number : 42 Question Id : 8643514542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SpssaniL eThs Carngdld o dter enblymenar QadLrd weanpudad jareflemb ?

Options :

-

86435113635. Bt
86435113636. Cry —NH,
fj
)
86435113637. N
;-.- + - —
86435113638,  N=NCI

Question Number : 43 Question Id : 8643514543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435113639, () only

86435113640, (B) only

86435113641, (4) and () only

36435113642, (B) and (C) only

Question Number : 43 Question Id : 8643514543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Epsam_aundld arhs qermy ‘bA@CLarl” (udewean eprid) smHseul
CQar@dlaamersd sflwurs @nléslng ?
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :
(A) b (Hibd
86435113639.

B) i (Db
86435113640, (0 L0

86435113641, &) LoDmID (C) LG

86435113642, (B) LLOOID () 10L(HiLb

Question Number : 44 Question Id : 8643514544 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  2-methylbutane on oxidation with KMnO, gives 2-methylbutan-2-ol.
Statement Il : n-alkanes can be easily oxidised to corresponding alcohols with KMnO,.
Choose the correct option :
Options :

86435113643. Both statement | and statement Il are correct

86435113644, Both statement 1 and statement 1l are incorrect

86435113645, Statement I is correct but statement 11 is incorrect

36435113646. Statement 1 is incorrect but statement 1l is correct

Question Number : 44 Question Id : 8643514544 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ECp @ren(h smpmser Qsrhdsiul (Heraren.

gamm)-1 : 2-GngHlalduy, GLamear KMnO, -6 o &eflgCGarhmib Gl
2-Glngdladly, CLan-2-a6 HanL_s8mz).

gamm)-11I : n-sieCaagener eraflfled, KMnO, GClgram(h 2,saflmGarmmid Clawlig
SEHS psamraseanar’s Gumeamb.

gflwnesr smpennd Csib0sH

Options :

Samm)-1 Hnb Samm-1 @rem@n &
86435113643, DI 0D mmI-11 G) e (s

86435113644, FDDI-1 LODD SapmI-IT Qram(BLd seun)

Samm|-1 &l el Sammy-11 sa6u
86435113645, PO perne gammi-Il Heum)

Samm|-1 seu anmed Sammy-11 &l
86435113646, -DDI=1 HEUDI b M)

Question Number : 45 Question Id : 8643514545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Choose the correct statement rega_rd"mg the formation of carbocations A and B given.

fTE
> CH3 o CHE = CH: S CHZ +Br™
v’fﬁ!(

CH:; — CHZ —CH = CHE + HBr

+
» CHy—CH,—CH—-CH;+Br™
i 'B”
Options :

26435113647, Carbocation A is more stable and formed relatively at slow rate

86435113648, Carbocation B is more stable and formed relatively at slow rate

26435113649, Carbocation A is more stable and formed relatively at faster rate

86435113650. Carbocation B is more stable and formed relatively at faster rate

Question Number : 45 Question Id : 8643514545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2.
l’.l'Aﬂr

CH;—CH,—CH =CH, + HBr

+
> CHy— CH,— CH—CH;+Br~
.-'ch‘.f

Cumsem A woHmb B -ariuer Crruafl o maurgd undlu sflwrer sambensd
Carbls.

Options :

86435113647.

sriruer Cpr well A fls Hlaowlyssamb 2 alwug Coab GHanhs
Ceugsdledr 2 (meurdlmg.

86435113648.
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sriuen Cuir owafl B ofls Bloalyssaean 2 amwg Coab @Ganhs
Ceuaddlar 2 (meurdlma.

86435113649.
sriuer Chir jwal A s Hoolyssaaw zalwg Coab nds
Ceussdler o (meurdlmg.

86435113650.
sriruer Gpr wall B o5l Hloalyssaan 2 aLwg Coab 2ds
Ceusgdler 2 (Heurdlmg.

Question Number : 46 Question Id : 8643514546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CiaHp O+ H, O — MR o o 100+ Ca Ok
Sucrose Glucose  Fructose
— Enzyme B = .
Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435113651. Invertase and Z}’mﬂ.ﬁﬁ?

86435113652, Zymase and Invertase

86435113653, nvertase and Amylase

86435113654, Amylase and Invertase

Question Number : 46 Question Id : 8643514546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GBrs A
Ci2H220q7 +H0 bre » CeHy06 +CH1204
&H&GTmen GersCaren  Gr&Gmen
@ B ]
CeH,0, 2B B | o H.0H+2C0,
@& @h&Ganman
Cunsan_ efleneamuliler Gprdsear A wHmib B wennGw
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Options :

Nemeuml_GL e MM enenGLen

86435113651. ‘g?‘l‘m i s

ene Goen wmmib Eemeurl_(GL e
86435113652. U ‘%

86435113653 Qameui_GLav wHmD BewbGeae

enGeey WwmHmb @ areur_GL g
86435113654. PO &

Question Number : 47 Question Id : 8643514547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OCH,4
C,H,N,OCl + C,HsOH ——> + Np+"X"+"Y"
(A)
In the above reaction, the structural formula of (A), “X" and “Y" respectively are :
Options :
N5 OCH;
H H
H U ‘H + HC
86435113655 cl
N, OCHj;
T
s CH;—C-H , H,0O
86435113656,
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OCH,
86435113657, 2
N, Cl-
7
+  CH3—-C—H ,6 Hd
H
86435113658. OCHs

Question Number : 47 Question Id : 8643514547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OCH;,
(A)

CuhsamL aflenamulley (A), “X” whmib “Y” -ér Senwlyger wannGu :
Options :

N5 OCH;

H H
II>W<H . HCl

86435113655. Cl

N, OCH,

T
’ (.H3 _C—H K HZD

86435113656. Cl
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N» C1-
Ii :}1
OCH;,
86435113657. .
N, Cl-
It
+  CH3-C—-H,6 HC
OCHj,
86435113658. :

Question Number : 48 Question Id : 8643514548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :
86435113659, Chloroform and KOH

26435113660 Benzene sulphonic acid

86435113661 para-Toluene sulphonyl chloride

86435113662, Acetyl amide

Question Number : 48 Question Id : 8643514548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@flenennyu, Frflenemtiu wHmD epefanennu o) Seser &L eTgena LiwaTL(hHdd
) i . M i mimi i i - IEP__.. =19 1 \J@
956 sh&EserD ?

Options :

86435113650 BCEOTTErIUIiL Wwhnb KOH

Quenden gav.-GuUralléd yiblenid
86435113660.
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86435113661, DM T-GlLrguellen se..GCumaene @Germeny(H

2FLenL e en(h
86435113662.

Question Number : 49 Question Id : 8643514549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - I

List - 1 List - 11
Chemical Compound Used as
(a) Sucralose (i)  Synthetic detergent
(b) Glyceryl ester of stearic acid (i)  Artificial sweetener
(c) Sodium benzoate (i) Antiseptic
(d) Bithionol (iv) Food preservative

Choose the correct match :
Options :
86435113663. (@)-(1), (b)-(ii), (c)~(iv), (d)-(iii)
86435113664. (@)-(i), (b)-(1), (c)-(iv), (d)-(iii)

86435113665, (@) (), (b)-(iil), (c)-(ii), (d)-(i)

86435113666, @)-(HL), (b)-(ii), (c)-(iv), (d)-(1)

Question Number : 49 Question Id : 8643514549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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suflems - 1 ayLan euflema - Il -anw Clummss)s.

eufflems - 1 euflema - 11
Ceudls Clummer Lwestun(p)

(a) &&rGeomean i) Geunens Faweneu Gy

(b) evgwfléd oblesdlen (i) GCleumens @eflly or’ g
flaflgenred ereL

() Gemguid QuerGerGuir (i) yeoy Bl

(d) eougCGurarme (iv) o aweyl UTH&ETEEHD Clummer

gflwnesr sabennd ©ummoss.
Options :
86435113663. (@)-(1), (b)-(ii), (c)-(iv), (d)-(iii)

86435113664, (@)-(1), (b)-(1), (c)-(iv), (d)-(iii)
86435113665, (@) (1), (b)-(it1), (c)-(ii), (d)-(1)

86435113666, @ (HL), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 50 Question Id : 8643514550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fructose is an example of :
Options :

86435113667, ‘‘ldohexose

86435113668, elohexose

86435113669, L yranose

86435113670, 11eptose

Question Number : 50 Question Id : 8643514550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&G EpseaTL eThs @eamlh@ @ 2STrenid ?

Options :
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My L}j Glair I;;:: :
86435113667, “DLELTElan&Genav

& CGLrGansGeavme

86435113668.

en Ly G e
86435113669.

86435113670, @@nLGL e

Chemistry Section B

Section Id : 864351304
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351304
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643514551 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of chlorine atoms in 20 mL of chlorine gas at STP is 107, (Round off
to the Nearest Integer).

[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~1 K~ 1, N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643514551 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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STP-ulé» 20 18.60. @CGarrflen euryelley o érer @Cerrflafen erewrentlseans 102,
(eflenL oi(méled 2 aTem (p(p 6T euTamtlcd)

[ STP-wleb GCermflen g Bmevadlwedy aurujeurs &mg. R=0.083 L bar mol =1 K-,
N, =6.023 x103 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514552 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr is doped with 10 ~> mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10", (Round off to the Nearest Integer).

|Atomic Mass : K :39.1u, Br: 799 u
N 4, =6.023 x 1{]33]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514552 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1072 Cunré #seigsddldy SrBry, oL e KBr Cardsliu@dmg. 1 Symbd KBr ugssdld
o arer Gruirdlen jweflufer el mkiger 1014, (aflen L méled o crem
(Wp(p eraTanfled)

[ <=iem Blepmsar : K:39.1u, Br:79.9 u, Ny=6023x10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 53 Question Id : 8643514553 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%107 ! BM. (Round off to the Nearest Integer).

[Given: 3 =173, /2 =141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514553 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ganyl L Bleneouller 2 erer Fe(Z=26) -ulen 0HpMHF L HGL STFERTOIS jenLDWLLD
&MhE Sl(mUY Slmem x10~1 BM. (aflenL i(m&led o emer (p(p eremreanile)

[ @i : 3 =173, 2 =141 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643514554 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A 1 molal K, Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.

The molar mass of A is u. (Round off to the Nearest Integer).
[Density of water = 1.0 g cm ™ 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
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100

Question Number : 54 Question Id : 8643514554 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 Cureréd K,Fe(CN), smrsdlear Wflens eigb 04. @sar Casrdlblene, 18.1 eranL
sgeigsdle Waru@ell jdeors ‘A’ sorsdsiulL wHEADTEH Sarsdder
Qs rdlblencod@ Fob erafley A-er Gomemi eren u. (eflenL ymdled 2 amem
(P eTamTamiled)

[ Bflemr oiLgd = 1.0 g em™3]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643514555 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the reaction N 204(g) === 2NO,(g)- The temperature at which KC=2{].4 and

Kp=600.1, is K. (Round off to the Nearest Integer).
[Assume all gases are ideal and R=0.0831 L bar K~ ! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514555 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SpsaL eflaneneniud smEdla O rers.
N,Oy4(g) == 2NO»(g), Kc=20.4 npmib Kp=600.1-60 &6 @mé@0n ceuliublaea

K (eflenL =imdledr o emem (p(p erevoremiled)
[ erébaor eumyss@Epd mealle eur&seT eTand SMHSa|d wHmb R=0.0831 L
bar K~ ! mol 1]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643514556 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A KCl solution of conductivity 0.14 S m ™~ ! shows a resistance of 4.19 (2 in a conductivity cell.
If the same cell is filled with an HCl solution, the resistance drops to 1.03 {). The conductivity
of the HCI solution is %x1072S m~!. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643514556 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@@ LerasL g saddld, sLdgdHmer 0.14 S m™! Garar. KCl-genrgeilen LlengenL

4.19 Q. eran gMlwiu Hererg. 2G5 Weanrsadsler HCl-samrsa Hlrluliul L me,

BlargenL 1.03 Q =5 Gondng. HCl sarsler s sHsddmer
x1072S m™ L. (eflenL ymdled 2 emem pp ereTantled)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643514557 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The reaction 2A 4 B_? — 2AB is an elementar}-' reachon.

For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor
of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest
Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643514557 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2A + B, — 2AB, araTug)| (F <2ilgUenL efilenamum@d. e GOILGILL Blevm GlamemT
efilenari(p Clummer 2 6mer eflenendseaflen LiHLaer 3 DL EIE GaDSEEGHD ClUmpg
Ceudl aflenamullenm Geudkid oL@ 2 wrdng. (eflen mbleéd o arem 1n(

i '-._ ” -Dé-l l: o ot '\I:I;I

GT et amtl 6 )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514558 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
On complete reaction of FeCl, with oxalic acid in aqueous solution containing KOH, resulted
in the formation of product A. The secondary valency of Fe in the product A is
(Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643514558 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

FeCl.-anw KOH GQaramr(Rerer = devmedld lblew Bid senraeLen &(HenD WTE
3 Wb <2h &2 : \D
efleneu(HSsLILpL Curg o arLr@n eflener Glumrmer A. A-é = erer Fe-am
@ rawrLmd Hlener (@)enantdmen . (eflenL o eTemTemtlad)

&4 & & = e Sl /

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514559 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C;H;,O) is . (Round off
to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514559 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Cudfleamra ydmevgd (CgHygO) 2drer C-C Menemriy(Saflen) ereimenfldens
. (eflen (p(p erevTamiled)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643514560 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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O
| 0
i
0140 g 0388 g 0210 g
Consider the above reaction. The percentage yield of amide product is . (Round

off to the Nearest Integer).
(Given : Atomicmass : C:120u, H: 1.0u, N:14.0u, O:16.0 u, Cl : 35.5 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643514560 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0
| 0
Gy -
i o
+ CgH;NHCHs —» CgHs—C—N—(CgHs),
0.140 g 0.388 g 0210g

GCunsarL cblenanenll SMHEFH e GSTET. 2 MHeuT@EL enw(n ellener Gluimmeflear
|:__,J |:__) ) W I:._.J
cllenerdged sgelish . (eflenL =y(m&led 2 aTer (P(p eTemTanflcd)

[ @EE : e {ﬁ;]m:maﬁ‘rr : C:120u,H:1.0u, N:14.0u,0:16.0u,Cl: 3551 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Section Id :
Section Number :
Section type :
Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :
Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

864351305
5

Online
Mandatory
20

20

80

Yes

1
864351305
Yes

Question Number : 61 Question Id : 8643514561 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. . . g o 1 ¥ 2 i
The number of solutions of the equation sin 1[12 I —} F cos 1[12 —1 = x*=, for

xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is :

Options :

86435113681, U

2
86435113682. —

e

86435113683.

86435113684, [nfinite

Question Number : 61 Question Id : 8643514561 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

xe[-1, 1] wombd [x] ererug x -m el WesluLrg BUQUEH wppererT eremm

i o : s 1 | S
eT(hd&E0laren(h sin 1[1‘“ I ?} b cos 1[1‘“

GT T Gens
Options :

86435113681, U

>
86435113682. ~

2

¥ . . . . . .
—j| = X~ elalll) FLOGITLITL Lo 6ar %r@_&_\@ ol
! ;
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86435113683, *

86435113684, Lniinite

Question Number : 62 Question Id : 8643514562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Boolean expression (p~q)=(p=q) is a tautology, then ® and @ are respectively given by :
Options :
Y

86435113685.

86435113686, 77 7

86435113687. "

86435113688, "

Question Number : 62 Question Id : 8643514562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(pArqQ)a(peq) eramm yedlwen eflfley Gwiiwb erafld GasrhHissiul_Herer @ wmHmib
® (ennGw! :
Options :
86435113685, "

86435113686, 77 7

86435113687. "

86435113688, "

Question Number : 63 Question Id : 8643514563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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— A Fal A — A ) k)
Let O be the origin. Let OF =xi + yj kand OQ =—i + 2j + 3xk,x,yeR, x>0, be

- — A
1

such that ‘PQ‘ = /20 and the vector QP is perpendicular to OQ. If OR = 3i + Zj 7k,

—> =
z € R, is coplanar with OP and OQ, then the value of x> + >+ z? is equal to :

Options :

86435113689.

86435113690.

=]

86435113691.

86435113692, 2

Question Number : 63 Question Id : 8643514563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— T4t 4% e . — A%
O eranug) 8l erens. OP =xi + yj — k whmbd OQ = —i + 2j + 3xk,x,ye R x>0,

=) P r b . e o
PQ| = 20 womib OP erarugh OQ -&@ CFm@Gssms o arar CleudL isar,

T GoTL &oT

M A M .—} —3
OR=3i + zj — 7k, z € R eraim GleugdL T, OP rHmWw OQ —HS@fﬁI_GhT &2( g;@rgg]d}

S DBSTe x2+ Yy +22 -ar W&l !
Options :

86435113689.

86435113690.

|

86435113691.

86435113692, 2

Question Number : 64 Question Id : 8643514564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
67/93



3/18/2021

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 42
of the matrix |4 5.2

5 k

=

. o
is zero, then the value of k= is :

ry S

Options :
86435113693, ©

86435113694.

86435113695.

86435113696, /2

Question Number : 64 Question Id : 8643514564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x, y, z eranuian Glurg efg$lwrgn, d, x # 3d 2drer g Fal(Hs6gsrfléd oamwnbg)

N

4 52
5 k

=

eramm Sjenfluden jenflECareneu Wiy LFHwb erafled k2 -6m iy :

R

Options :
86435113693, ©

86435113694. ~—
86435113695.

86435113696, /2

Question Number : 65 Question Id : 8643514565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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tan( co 52[]]

The value of the limit lim

: : is equal to :
8—0 sin (2 sin~0)

Options :
1
86435113697 4

1
;
86435113698, 2
1
86435113699. 2
0
86435113700,

Question Number : 65 Question Id : 8643514565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

tan(r -:n_u.?‘l]‘_l

lim eremm erebeneoulenm wdliiy

B0 sin (27 sin’0)

Options :
1
86435113697, 4

1
;
86435113698, 2
1
86435113699. 2
0
86435113700,

Question Number : 66 Question Id : 8643514566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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1

Olgin2mxl , 5 _
dx =ae "+ Pe t vy, where «, §3, v are integers and [x] denotes

If the integral j{} N

the greatest integer less than or equal to x, then the value of «+ 5 + v is equal to :

Options :
86435113701, ©
86435113702, 10

86435113703, 20

86435113704. 25

Question Number : 66 Question Id : 8643514566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B i i £ B 5 o = g
a, B, y eramuien (p(peramser [x] eramug x-g efl Wlensurg DOG LM wppera

1

. . [Ylsin 2mwx] 1 5 2 g . .
ereml (olg mesor(h — — —dr=ce "+ Be 2 +vy craflev a+p +vy -ar LY :
= = 0o e* [kl e
Options :
86435113701, U
86435113702, 10

86435113703, 20

86435113704. 25

Question Number : 67 Question Id : 8643514567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the curve y=1y(x) is the solution of the differential equation

5/ 1/ 9/
2(x% 4 x4)dy —y(x + x*)dr= 2x*dx, x > 0 which passes through the point

4
(1; 1 3 1089_2] , then the value of y(16) is equal to :
Options :

Sy g

86435113705. 4

731 8
(? 3 log, :ﬂ
86435113706.

(% I %lngeﬂ
86435113707. ** . ’

86435113708.

Question Number : 67 Question Id : 8643514567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5/ 1/ 9/
2(¢® + x4y dy—y(x + x4)dx = 200 dx, x > 0 GTenn euends 6l E(pF Foarurliger ey

4
GUENETELENT iy =y(X) LOIHMILD GUENETELENIT (L 1 3 lﬁgez] ereonm Ljemertl eulpl Glaammmred

y(16) - W&l
Options :

(31 8

86435113705. 4

2 S
3 e,

[

86435113706.
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86435113707.

86435113708.

Question Number : 68 Question Id : 8643514568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential equation

T B
cosx(3sinx + cosx + 3) dy=(1 + y sinx(3sinx + cosx + 3))dx, 0 =x = % ¥(0)=0. Then, y(%J is

equal to:
Options :
305 =8
2 L::rgF {T |
86435113709. " r
(V3 4 ?W
2 L::rgH [ -
86435113710. 3 T g
' 2.3 +9)
2 IogP [T |
86435113711, i ’
2 log, [Zﬁlll 10)
86435113712. : ,

Question Number : 68 Question Id : 8643514568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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y(0)=0erenm S(QUUm_(HLem, y=y(x) eremig

cosx(3sinx +cosx +3) dy = (1 +y sinx(3sinx + cosx + 3))dx, 0 =x :g GTamm eUeN&EH bl &H(LpF

FETUM Iy 6l Hirey erans. LGlumLps y(%) -air &l ¢
o

Options :

2log, [—’Ni SW
J

86435113709.
2log, [‘ﬁ l ?W
86435113710. 2
EIDgE [—z‘ﬁ l 91
' 6 J

86435113711.

21og, [2@ | mw
s

86435113712. L

Question Number : 69 Question Id : 8643514569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(2 (1 ) bel, 2 2 0
Consider the function f: R — R defined by f(x) = JF' a x],- Rk 7 . Then fis:
0 , x=0

Options :

86435113713, monotonic on (0, =) only

monotonic on (— %, 0) only
86435113714. 2

86435113715, monotonic on (— =, 0) w (0, =)

not monotonic on (— %, 0) and (0, =)
86435113716.
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Question Number : 69 Question Id : 8643514569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[2 am(lﬂ x|, x= 0
AL

f:R— Reramm &rry f(x) =41 GTEMmEUTT) euenTWmiGsELIL (HEmg
D g e |

ereamGumDd. uklurapg) f erenuig) :
Options :
26435113713, (0, =) eremm @enL Geiaflllier eflweéy sriurs w(HD @) (HEHELW.

86435113714 (— =, 0) et @enLGleuaflufled flwey Friurs wL (KD @) HEELW.

sea3siiars, (20 0 W (0 =) -en g @fludy sriure G)mEs b,

86435113716.
(— ==, 0) wHmW (0, =) erenm @enGleuaflsafler efludys sriurs @(masTg.

Question Number : 70 Question Id : 8643514570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The value of
[r] + [2r] + ... + [n1]

lim
Mn—oo 112 ks

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,

is equal to :
Options :

86435113717, ©

.I'
86435113718, 2

86435113719, 2T

86435113720. 0
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Question Number : 70 Question Id : 8643514570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
' [r] + [21] + .. ..+ [nr]

lim 3
1 — 00 n

-aor WAL, @kiE 1 eramug LFHwonm Goderanr woHmiLb

= e = F R .
[r] ererug) r-g el WensliuL rgs WUELIK (DT e :
Options :

86435113717, ©

: T
86435113718, 2

86435113719, 2T

86435113720. 0

Question Number : 71 Question Id : 8643514571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a computer program generate only the digits 0 and 1 to form a string of binary numbers

with probability of occurrence of 0 at even places be B and probability of occurrence of 0 at

1
the odd place be 3 Then the probability that “10" is followed by 01" is equal to :

Options :

i
86435113721.

1
86435113722, ©

1
86435113723, °
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|
86435113724, 18

Question Number : 71 Question Id : 8643514571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ sanflall Hlruureneamlda 0 wHmL 1 eremm FHMILL TENSET (h Frdans (string)

2 (HeurdsLUBn Glur@pg 0 erarug @rimL. Qadsmisalla 2wl Bapssae
. e , B . . . o
5 eemd  @berp Qeossnsales 0 ombLW HEDPSHY 3 Tamd

Carhasiul (herergl. 10" -&@ <Ahdg 01 eumeugnarar HlsDsHe .

Options :
i
86435113721.
1
86435113722. ©
1
86435113723, °
k!

86435113724, 18

Question Number : 72 Question Id : 8643514572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,
then the total number of triangles that can be constructed using these points as vertices, is

equal to :
Options :
86435113725, 360

86435113726. 364
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86435113727. 333

86435113728. 220

Question Number : 72 Question Id : 8643514572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AABC -e LssmgeTran AB, BC whmib CA-safle wpennCGw 3,5 whmib 6 2 atyéraflser
(Interior Points) o dteran. @ks Leteaflgamer (pevarls Ueraflgerrsd s m e (b
2 Heum&sLLHID wp&Caremmsaflen ererentléams :

Options :
86435113725, 260

86435113726. 364

86435113727. 333

86435113728. =0

Question Number : 73 Question Id : 8643514573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the tangent to the circle x2+ 2 =25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then r? is equal to :

Options :

125
86435113729, /2
625
72
86435113730,
529
86435113731, 0%
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'585
86435113732, 0P

Question Number : 73 Question Id : 8643514573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x2+y?=25 eranmm eulLgdlen 58 R, 4) eramn Yerafluler euanrwiue Qgr@CsT(H
X -3 &F& LOHMID ¥ -AFF&smer WenCw P, Q eramm yeraflsailer shdlssmsg.
S Slauflurseib AOPQ - 2 6Teul L enDwWSens enonrss Casranrl eul L Sdler
<24 Tb 1 erafled 1% -6 Wl :
Options :
125

=

86435113729. “

625

86435113730.

£

529

86435113731. ek

585

86435113732, 0P

Question Number : 74 Question Id : 8643514574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let S5, S, and S; be three sets defined as

S, = {ze C: -1 =42}
S, = {ze C:Re((1-1)2z) =1}
S; = {ze C:Im(z) = 1}
Then the set S; " S, M S4

Options :

86435113733, N1as exactly two elements
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36435113734 has exacLE}-' three elements

86435113735, 18 a singleton

86435113736, Nas infinitely many elements

Question Number : 74 Question Id : 8643514574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S, = {zeC: |z-1 =42},

S, = {ze C: Re((1-i)z)=1},

Sy = {z € C : Im(z) = 1} eramuic (LGN SHETRISET 6T6S.
2UGlurapg S, NS, NS, eramm SewTid :
Options :

ETL T o) TemT(h < i. j AT | -’.: 1.-_’ ]
26435113733, FLTE Qe (H 2 miiudsenar 6 LbblmhdE L0

sHlwrs epenrm 2 muussenet GlLmdlmeELwn
86435113734, 7 e Pl 2-HILY LlupMlmHEE,

86435113735, B 2-MILILS CETeRrL Sewrid

86435113736, (LIEUDD 2 MLILISESEnETS QEreRTL SHemTLd

Question Number : 75 Question Id : 8643514575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e *sinx. If F : [0, 1] — R is a differentiable function such

: x 1 .
that F(x) = j f(t) dt, then the value of jﬂ{F'{x} i f{x}}eldx lies in the interval
0

Options :

B

86435113737. 360" 360

[ 327 329}

86435113738. S
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[ B
864351137309. 360 360

5o s

86435113740, o060 360

Question Number : 75 Question Id : 8643514575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: R = R eranmm swiy f(x)=e *sinx erenmm cuenrumssiuhdms. F: [0, 1] — R eramu
: o Y, ! o bI&IDE) gl

. Y
sl _gs5&55 arry Fx) = lf{t] dt GTENMEU MM eUenFUMESILL L TE
R )

1 -
L (F(x)+ f(x))e"dx -1 iy ienowyhd @en GQeuaf :

Options :

56 50

86435113737. 360" 360

86435113738. 360" 360

£
864351137309. 360 360.

5o s

86435113740, o060 360

Question Number : 76 Question Id : 8643514576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6
The value of ) {ﬁC, . E'f_"ﬁ ,_] is equal to :

r= 0
Options :
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86435113741, 724

86435113742, 1024

",
86435113743. 1124

86435113744, 1324

Question Number : 76 Question Id : 8643514576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& %

3 {""C, T ¢ | -éi iy
r= 10
Options :

86435113741, 24

86435113742, 1024

",
86435113743. 1124

86435113744, 1324

Question Number : 77 Question Id : 8643514577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

El.. =3 z+2 o ) x—2 )
ST § oy and containing the line = = is

wd
(==
=
|
3
(==

line

ax + By +vyz=24, then a+  + vy is equal to :

Options :

86435113745, 21
86435113746, 2V
86435113747, 19
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86435113748. 18

Question Number : 77 Question Id : 8643514577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x+1 y—F s+2 , — ) : : 3 " ;
g i g ) CarlenL U Glurmss (2,3, 1) erenm Lemartlullenm sevremtirig

i X2 Ay BEL e : : e
Gbub eudlwurseayld " 2j= [ eTer CarlenL 2 61 BL&SW serddlen

FoerUT(h ax +Py+yz=24 erafled a+p+y- ar wdli :
Options :

86435113745, 21

86435113746, 2U

86435113747. 19

86435113748. 18

Question Number : 78 Question Id : 8643514578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from a point P to the circle x> +1?— 2x — 4y +4=0, such that the

~1(12 5 I
angle between these tangents is tan 1(€W , where tan 1(15—21 € (0, ). If the centre of the
oS g

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of

the areas of APAB and ACARB is :
Options :

86435113749, 9 1 4

86435113750.
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86435113751, 2+ 1

86435113752, 11+ %

Question Number : 78 Question Id : 8643514578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P ererm arafludlellmbg x2+y?—2x—4y+4=0 eramm aul LGS M@ euanruiul L
Gl MCETME TS A\l ; : Came ‘. -1 12} (@ . -1 121 i
GlgrhGamha@EnsE @enL Ul L Garemrd tan 5 , @IkIE tan 3¢ (0, 7) erems.

2 bs el Lsdlen enwid C eranm @hlsg DsrhHCarhser Gembin Yearaflsear A, B
erafled APAB whmid ACAB -safler Lrliyseflen afldlsib :
Options :

86435113749, 9 : 4

86435113750, ~ - 1
86435113751, 2 1
86435113752, 114

Question Number : 79 Question Id : 8643514579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2 tanx = % in the interval [0, 2] is :

Options :

86435113753
86435113754, 2
86435113755, 4

86435113756.
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Question Number : 79 Question Id : 8643514579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[0, 27] eremm @enL Gleuaflulé x + 2tanx = ? Granm FWeTUT_ e &ireysafler
6T GHT GOt En &
Options :

2
86435113753. =

(S E]

86435113754
86435113755, 4

86435113756.

Question Number : 80 Question Id : 8643514580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a tangent line to the parabola y?>=4x — 20 at (6, 2). If L is also a tangent to the ellipse

S
|x,1| -

4

2

P = 1, then the value of b is equal to :
i)

Options :

[==1

86435113757, 11

=

86435113758. &

86435113759.

86435113760. 2

Question Number : 80 Question Id : 8643514580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(6, 2) ererrm yerafluded y?=4x—20 eranmm LFeueeTWSHHHE cuanrwiu L QgsrHGCsrH

=2 2

L ereng. L eramug “17 | % =1 eramp BaTaul L SHD@EGL CsrGCar® erafle

b -em iy :

Options :

86435113757, 11

86435113758, 14

86435113759. e

2
86435113760. 20
Mathematics Section B

Section Id : 864351306
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351306
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643514581 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e
Let I, = jl 32 (log/x)™ dx, where n e N. If (20);,= aly + Blg, for natural numbers « and J3,

then a — f equals to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 81 Question Id : 8643514581 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Bl rxlg (log|x)" dx, n € N eran&. «, B eranuen @we eranserrssd o & mraur()

1

n

(20)[jp=alg + Blg erefled a—p -6 Wiy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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(2n

Let tana, tanp and tany ; o, B, v # —I}_F ,n € N be the slopes of three line segments OA,

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

" . ; 3
and its orthocentre lies on y-axis, then the value of [ cos3a + cos 3P + cos 3y

".

=
W is equal to
COS . COS [5 cos vy )
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cos 3o + cos I + cos 3y
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If 1, log,,(4*—2) and Ingm(f I lS—BW are in arithmetic progression for a real number x, then
. /

the value of the determinant is equal to :
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Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2Zn numbers, and subtracting 1 from each of the remaining n numbers. If the
variance of the new set is k, then 9k is equal to
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Let f: [-1, 1] — R be defined as f(x) = ax”+ bx + ¢ for all x €[ 1, 1], where a, b, ¢ € R such

1
that f(—1)=2, f'(—1)=1 and for x € (—1, 1) the maximum value of f"(x) is 5 If f(x) = «,

x € [~ 1, 1], then the least value of « is equal to
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1 . : g :
5 Grarmeumm) f:[—1,1] — R eremmm &mry f(x) =ax’+bx+c Vxe[-1,1] @@ a, b, ceR

euanTWM&SE LU (hElma).

f(x) = o, xe[-1,1] erafléd a -ar B&flmy wHiy el
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n
Let the coefficients of third, fourth and fifth terms in the expansion of [1 | izw ,x#0, be
x4

in the ratio 12: 8: 3. Then the term independent of x in the expansion, is equal to
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Letf:[—3,1] — R be given as

;111111 xlﬁ],:fz, 3=x=<10
flx) =1 \iiad

[max ug,xz}, U=x=1.

If the area bounded by y=f(x) and x-axis is A, then the value of 6A is equal to
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f:[-3,1] = R erenm &miy

f(x) jmin {[1‘ t 6), xz}, I=xr=<1{
J{x) = 1
EI‘I'I.'EH{ {ﬁqlz} D=x<1

GTETMEUTN 6uenTWmGs LRSS,
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Let P be an arbitrary point having sum of the squares of the distances from the planes

x+y+z=0,lx—nz=0 and x—2y +z=0, equal to 9. If the locus of the point P is

x2+y?+2z2=9, then the value of - n is equal to
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— — AOA A A

Let x be a vector in the plane containing vectors a=2i—j+k and b =: f 2; k. If the

= [ A A A -
vector x is perpendicular to |37 +2j—k/ and its projectionon a is 176 , then the value of
2

2
N
‘x‘ is equal o
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| a | ' ] [0
Let A = [a ;] and B = [;] i[[}] such that AB=B and a + d=2021, then the value of ad — be
C C

is equal to
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